Mount Litera Zee School, Hajipur|Sonpur

Worksheet- 3
Grade — 4 Sub — English

Write all the answers in English copy.

Chapter-2

1. What does Neha's do when the alarm clock ring?

2. What does she mutters?

3. At what time the alarm clock ring?

4. What was Neha wish?

5. What inside us that make us get up at the same time every day?
6. What does the bird and sun said?

7. Word meaning of:

e Snores
e Escape
e \Warm

e Snuggles
o Mutters
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Worksheet- 3

Grade -4 Sub — Mathematics
Q1Write and learn table from 2 to 20 everyday.

Day 1 Find the following sums.
(@) 46125+ 23189 (b)80216 + 50213 (c) 20561+ 54210 (d) 63258+ 10236
Q2 The monthly incomes of Sarita, Ravi and Kavita are 333,074, 324,823 and 354,083
respectively.Find the total monthly income of Sarita , Ravi and Kavita.
Q3 Solve each of the following problems.
(a) 4126%5 (b) 1026 x 9 (c) 7451x 8 (d) 5569x17
Q4 A school has 2016 desks. If 2 students can sit on each desk, then how many students can sit on all
these desks?
Q5 Write the place value the following numbers of each digits.
(a) 5946 (b)2016 (c) 6648 (d) 4233 (e) 8790 (f) 9469
Q6 Find the face-value and place-value of (7) in the given numbers.
(@) 4712 (b) 50745 (c)59773 (d) 94870 (e) 615487
Q7 Find the following difference .
(2)56421-49871 (b)92105-84561 (c) 35648-10654 (d) 75489-8654
Q8 A study shows that a family of 4 persons consumes on an average 1316g of pulses in one week.
(a) Find the quantity of pulses consumed by the family in one day.
(b) Find the average quantity of pulses consumed by a person in a day.
Q 9 The weight of 66 sacks of rice is 990kg .How much does one sack weigh?
Day 2_Q1Write table from 2to 20.
Q2Write the number representing each of the following number names.
(a)One lakh seven hundred forty two.
(b) three lakh four hundred nineteen.
(c)Seventy lakh fifty eight.
Q3 Rewrite each of number in Indian place-value system using commas at appropriate places.
(a) 174961 (b) 25486  (c) 85476 (d) 20136 (e) 56272
Q4 Write the number names of the following numbers.
(a) 45126 (b) 85479 (c) 301648 (d) 50126 (e) 5234800
Q5 Write the successor of the given numbers.
(a) 23,562 (b) 41,589 (c) 26,234 (d) 80,521 (e) 58,948
Q6 Write the number names of the following numbers according to the international system.
(a) 5489 (b) 8703 (c) 92154 (d) 32154 (e) 20594



Q7 Multiply the following numbers .
(@) 456%x23  (b) 489x89  (c)268%x89  (d) 8762x974 (e) 6480%305
Q8 Arrange each of the following numbers in descending orders.
(a) 62310,89523,74589 (b) 90236, 96478, 84596
(c) 56412,89456, 20136 (d) 74592,5694,975842
Day3 Q1 Write the predecessor of each of the given numbers.
(a) 25,451 (b) 54,897  (c) 70,235 (d)85,603 (e) 42,587
Q3. Arrange each of the following group of numbers in ascending orders.
(a) 38674, 37734, 37823 (b) 78459, 54000,75043 (c) 84510, 86479, 95647
(d) 987433, 948792, 987423 (e) 326571, 326521, 326581
Q4. The population of a small town in the year 2016 was 94650. The population increased by 8745
in the next year . What was the population of the town in the year 2017.
Q5. 21564 male participants and 18456 female participants in this year’s Mumbai Marathon.
How many people in all participated in the marathon?
Day4 Q1 A school has 3012 desks. If 3 students can sit on each desk, then how many students can sit on
all these desks?
Q2. A factory produces 9870 packets of noodles in a day . How many such packets will they
produce in February 2018?
Q3. In a orchard ,there are 645 rows of apple trees . If there are 35 apple trees in each row ,how
many Apple trees are there in the orchard?
Q4. The weight of 66 sacks of rice is 990 kg. How much does one sack weigh?
Q5. Divide the following numbers.
(a) 528+12 (b) 1147+37 (c) 575+23 (d) 4112+16 (e) 39331+13
Day5 Q1.What is the quotient and the remainder when 6575 is divided by 7?
Q2. Ronald is inviting 41 friends to a party. Ronald wants to distribute 325 cookies among his 41
friends. How many cookies will each friend get?
Q3. Ms .Lele’s car runs 16km using one litre of petrol. She has to travel a distance if 836 to meet
her son. How many litres of petrol will she need?
Q4. 1320 books are arranged equally in 5 bookshelves of a library . How many books are arranged
in each bookshelf?
Q5. A luxury bus travels the same distance every day and covers 2548kmin a week. How much
distance does it cover each day?
Q6. Show the following numbers on the number line.
(@) 12 (b) 9 (c) 10 (d) 15
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Chapter — profession and occupation

. What is profession?

. List some professional?

. Difference between profession and occupation?

. Name the place which is famous for handloom saree?

. Name any 3 profession who do not wear uniforms.

. Describe the process to making cloth from thread?

. Name the first Indian woman pilot in the Indian Air Force.

. Name any 2 profession who wears uniforms.
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. Draw some pictures of profession and name them?



